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Analysis and Conclusions

1. Inferring What are the possible genotypes of the parenté of an
offspring who has wavy (Hh) hair?

2. Predicting Would you predict that another pair of students in your
class would have an offspring genetically identical to yours?
Support your answer.

3. Drawing Conclusions Do you think anyone in your class has all
the same genetic traits that you have? Explain your answer.

4. Comparing and Contrasting How is this coin-toss model similar to
the way in which traits are inherited in living things? How is the
model different?

Going Further

Some inherited diseases cause an individual to die before reaching -
reproductive age. Using library or Internet resources, read about one
of these diseases, and write a brief report about what is understood
about its transmission, and in what types of populations it tends to
occur. Some examples of inherited diseases that cause early death
include Duchenne muscular dystrophy, Tay-Sachs disease, and
Krabbe's disease.
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